16th Annual Benefit Auction For Bethany Birches Camp September 29, 2018 LOT LIST

	Item	Description	Donor	Sol	d for:
# 1	Code LDMASY	Larry's Maple Syrup, 2 half gallons 2 x \$190.	Larry Derstine	\$	380
2	SSSWI	All-Day Lift Tickets for 4 Guests at Suicide Six Ski Area.	The Woodstock Inn and Resort	\$	125
3	SOLACS	Solmate adult crew socks, made in USA with recycled cotton, 1 pr of medium and large in each style, Element Series: Air, Water, Earth, Fire 8 x \$30	Jan Collins	\$	240
4	BLDANA	Breakfast for 2, & Lunch for 2 2 x \$50	Dana's by the Gorge	\$	100
5	HWOOEB	Handmade wooden (elm) bowl - medium size	Daniel Emanuele	\$	75
6	DDDDM	Dinner Delivered! Dinner for 8 made by Donna Miles delivered within a 25 mile radius of Bridgewater. She will work with you on menu style of your choice and accommodating dietary restrictions. Dessert included!	Donna Miles	\$	400
7	WHHSOB	Whisper Hill Soap basket	Whisper Hill Body & Bath	\$	45
8	GOLDHC	4 hours of house cleaning to a local homeowner by Goldcoast House Cleaning, includes cleaning basket of natural sponges, clothe essential lemon oil, and a bottle of Thieves Cleaner	Sarah Kaminski	\$	250
9	ORGVAL	Organic Valley coupons, \$120.00 in retail value, good for any OV products at retail locations anywhere	Brent & Regina Beidler	\$	120
10	BEDRUN	Bed Runner, machine pieced and quilted, 26x84"	Mary Guntz	\$	90
11	ANTHOR	Antique horn, non powered amplifier for your smartphone speaker, hand crafted from a repurposed horn by artist Bethany http://www.bethanvformica.org/Sawdust_Siren.html	Bethany Formica Bender and Conrad Bender	\$	240
12	DATENI	Date Night! Enjoy an evening out in Woodstock! This package included a \$100 gift card to dine at the Woodstock Inn, movie tickets to the Town Hall Theatre, and one evening of FREE BABYSITTING* provided by Courtney Hollingsworth -BBC's Program Director (aka Wonder Woman). *(up to 6 hours and located within 45 minute	Courtney Hollingsworth	\$	300
13	BSWWAN	(Two) framed pastels by Lynda, overall size 10x13", "Beside Still Water" and "Wander" 2 x \$40	Lynda Knisley	\$	80
14	GARDSU	\$75.00 Gift Certificate to Gardener's Supply, good at https://www.gardeners.com/ or retail Garden Centers	Gardner's Supply Company	\$	175
15	BBBITE	A Variety box of Bric & Bella bath items. Lavender Sage Candle, Sea Salt & Lavender Soap, Lavender Body Balm, and Lavender Soaking Salts	Caitlyn Laubach	\$	60
16	SLIDSC	Two lots of 250 of your 35mm slides or negatives scanned into digital format on my Nikon digital scanner. Includes color correction and tweaking of your photo. Returned to you on a CD/DVD ready to import into your computer. (no slide show) 2 x \$50	Allen Guntz	\$	100
17	GFFPIG	One whole pig grown on the Gehman family farm in Coopersburg, PA. Butchered at a local butcher shop (Baringer Brothers Meats in Richlandtown, PA), to be picked up by buyer. Cut and wrapped how you choose Includes loins chops bacon sausage scrapple hams	Barry Gehman	\$	950
18	COLOBA	Coffee Lover Basket	Jen Yoder	\$	80

19	KNITOG	(4) Skeins of Knittog Yarn, 70% alpaca from our farm, 20% US sourced merino wool. mill spun at Battenkill Fiber Mill. Black and brown are natural colors, blue and orange are hand dved by Kim	Kimberly Watkins	\$ 85
20	COFPAI	"Coffee painting" of BBC by artist Megan, plus Vermont roasted coffee and mug	Megan Troxell	\$ 65
21	LINPTB	Two linen purse/tote bags, uniquely created from antique linens.	Cari Good	\$ 45
22	BACKWI	An Evening of Bach, Cheese, and Wine - Enjoy an intimate evening with friends as you listen to a private recital of a seminal piece of the cello repertoire, Bach's Solo Suite for Cello no 1 in G Major. Wine and cheese will be provided to further your enjoyment of the evening. Location of your choosing within 30 miles of Hartford, VT.	Ben Kulp	\$ 300
23	KAFLBB	King Arthur Flour "Breakfast Basket" Includes pancake and scone mixes, VT maple syrup, blueberry preserves and more	Mary Guntz & Laura Beidler	\$ 85
24	ASCUFL	Assorted cut flower arrangements from Beidler Family Farm 6 x \$75	Brent & Regina	\$ 450
25	SEADIN	Four-Course Seafood Dinner for Two (<u>Two certificates</u> for a total of 4 people) To be served at home of Abner & Virginia 2 x \$125	Abner & Virginia Schlabach	\$ 250
26	GLABOW	!0" glazed bowl by potters Grace and Evan	Grace Pejouhy & Evan Williams	\$ 100
27	CTRACO	(1) Flourless Chocolate Torte w/Raspberry Coulis - Created for you at a time of your choosing and will be delivered within a 35 mile radius	Gwen Groff	\$ 300
28	HOBRHI	(3), 1 1/2 pound bottles of honey from Brian's hives 3 x \$85	Brian Goshow	\$ 255
29	KILSKI	2 sets of 2 One Day Killington Ski Passes for the 2018 - 2019 Ski Season - no black out dates! 1 x \$325 & 1 x \$300	SP Land Company	\$ 625
30	FREDPO	Fred's photos on metal, 10" x 10" photos in a 15" x 15" barn board frame, 2 to choose from; "Snow Covered" & "Kaiser Service". 8"x 8" photo in a 12" x 12" barnyard frame, 2 to choose from; "37 Ford" & "Caddy" 4 x \$125	Fred Schlabach	\$ 600
31	BPSDTM	Basket with fresh homemade pesto, sun dried tomatoes and fresh mozzarella from Joanne's kitchen	Joanne Hershey	\$ 50
32	GOLFQC	Golf @ Quechee Club, Certificate for one round of golf for 4-With	The Quechee Club	\$ 400
33	TARUVT	Table runner made from vintage tablecloth, machine quilted, reversible 18 x 36"	Ruth Ann Glick	\$ 60
34	BBCFSC	Fred for a day. 8 hours of labor (materials extra). Carpentry, painting, light plumbing and electrical, etc.	Fred Schlabach	\$ 700
35	SOLNEW	Solmate adult crew socks, made in USA with recycled cotton, 1 pr of medium and large in each style, NEW for this Fall: Forget-Me-Not, Safferon 2 x \$100	Jan Collins	\$ 200
36	GBWORU	100% wool, hand braided rug made by Brandon's 86 year old Uncle	Glen Baer	\$ 600
37	COINBA	4 assorted coin banks, (Piggy; Whale; Dolphin; Eagle) made by Bob 4 x \$40	Bob Moyer	\$ 160
38	HANEJE	Art project created by Angie, Reclaimed wood box decorated with images from a 1940's Life Magazine and filled with breakfast items	Angie Earle	\$ 105
39	RPCBMA	Cherry rolling pin, a live edge cherry cutting board and a black walnut cutting board all crafted by Matt 3 x \$60	Matt Maxham	\$ 180
40		Two green boats with shelves, large and small, made by Bob (items on shelves not included) 2 X \$50	Bob Moyer	\$ 100
41	CCMICL	Up to 5 hours of career coaching, including mock interviewing and cover letter editing	Heather Kulp	\$ 25
42	WOGATH	"Wool Gathering" collage by Lynda in gold wooden frame, overall size 12.5x18.5"		\$ 75
43	PCHPVF	6 half gallon bottles of World Famous Pennsylvania Chocolate Milk from Penn View Farm 7 x \$100.	John and Paul Hockman	\$ 700
44	CHADCH	"Chad's Chickens" - 3 Free Range Red Broiler Chickens (5 lbs) - Frozen 3 x \$120	Chad Yoder	\$ 360

45	MFBCCA	2, 1# batch of Maryland fresh blue crab cakes (5-6 cakes) picked up in	Phil Wilkerson	\$	250
46	FORSAV	Bridgewater with a weeks notice 2 x \$125 1 day of any service offered by Forest-savers. View website link to view services offered, also includes driveway regrading, tree felling and extraction, field mowing, and clearing woods. Limited to VT &	Gerry Hawkes	\$	650
		NH http://www.forest-			
47	QUKHBS	Quilt kit from Keepsake Quilting, "Hip To Be Square" 68x80"	Ruth Ann Glick	\$	200
48	MASSLT	One hour massage at my office in Woodstock	Leanne Tapley	\$	125
49	SUGARB	Sugarbush gift basket of VT products by Sugarbush Farm	Sugarbush Farm	\$	500
50	WATBBC	Sponsor a child's week at camp by paying for a scholarship in our "Kid's to Camp Fund". You'll get Thank You letters from	Maybe you?	\$	8,700
	0011415	campers at the end of summer! 17 Bidders			
51	SOLKID	Solmate Kids socks, pair with a spare, 1 pr of small & medium in each	Jan Collins	\$	160
52	ELSYFE	style, June Bug & Firefly 2 x \$80 Health Basket to include; honey from Bendy Brook Farm, mug from local artisan, 4 teas (Tulsi, lemon verbena, apple mint and lemon	Naomi Moyer	\$	260
53	MAHETA	balm) 2 tea strainers. elderberrv svrup. and fire cider elixir. Mahogany end table with birds-eye maple inlay 22" tall, 18" across handcrafted by fine furniture builder Pete	Pete Michelinie	\$	175
54	MAPJAE	Vermont Maple Syrup, 2 half gal, & 2 quarts 4 x \$55	Jim & Angie Earle	\$	220
55	ISPYQU	"I Spy Quilt", Machine pieced and quilted, 42 x 54"	Mary Guntz	\$	200
56	RWBIFE	Red & White bird feeder made by Bob	Bob Moyer	\$	90
57	SCULPT	Sculpture of some kind - details to follow	Sam Lapp	\$	65
58	WEABBC	(3) weaving projects done by BBC Campers, placemat size, long	BBC Campers	\$	105
59	SNOSHO	hew Freetail snowshoes (made in Canada) 35 1/2" long	Rich Leatherman	\$	225
60	CQMCCB	Comfort/quilt, machine pieced, knotted, 60x80" made to MCC specs	Mary Guntz	Ψ	175
00	CQIVICOD	for relief so could also be donated to MCC and benefit BBC & MCC	Wary Guille	Φ	175
61	SOLKSO	Solmate adult-teen knee socks, medium, 1 pr each of Carnation & September Sun 2 x \$65	Jan Collins	\$	130
62	HMWBRL	(2) Wooden benches from Rich's shop; one is cherry and the other is cutting board style with five types of wood 2 x \$400	Rich Leatherman	\$	800
63	SOLBLA	Solmate Blanket-Raspberry Design, size 54' x 65", New item just released, made from same recycled cotton as socks	Solmate Socks	\$	245
64	PTENOC	Paper Teardrop Earrings - These earrings are made from miniature handcrafted paper beads from Uganda, in a classic teardrop shape. From Noonday Collection, which is a fair-trade, socially responsible business	Stephanie Landis	\$	65
65	HOMGRA	Homemade granola, 4 bags from Jennifer's kitchen 4 x \$100	Jennifer Maxham	\$	400
66	ADBBPI	Althea's bread and butter pickles, 6 quarts 6 x \$110.	Althea Derstine	\$	660
67	WOFAMK	(2) \$75.00 Gift certificates 2 x \$180	Woodstock Farmer's Mkt	\$	360
68	NORSTA	(2) Tickets to any play of your choice at Northern Stage in White River Jct. at the Barrette Center for the Arts, good for 5 years. Call and reserve your choice.	Jan & Bob Collins	\$	150
69	JESBBQ	(2) \$25.00 Gift certificates - one with hat and tee shirt and one with sweatshirt	Jesse's BBQ	\$	230
70	ROMCSC	2 Baby quilts, one is hand quilted, 37" x 56" cross stitched by Susie Moyer, Amber's Grammy, and one is knotted baby comforter, 33" x 43" 1 x \$85 1 x \$35	Rockhill Mennonite Church Sewing Circle	\$	120
71	STGLTT	Stone and glass tile trivet with cherry edging, 11 5/8" square, made by Fred	Fred Schlabach	\$	125
72	PECAOL	Pewter Captain Oil Lamp	Gallagher, Flynn & Company	\$	150

96		plus apples, cider, mugs, silent auction, rounding up paymer	nts, and match \$\$	
95			Total	\$ 33,070
	I IOI OOA	(1) Homomado i anny Sakos nom Loamoman's kitonen	Leatherman	\$ 230
94	HOFUCA	(4) Homemade Funny Cakes from Leatherman's kitchen	Ralph & Ann	\$ 85
93	CMPFHT	together and pay for the pond beach upgrades! 10 donors Cosco 300-pound multi position folding hand truck	LaValley's Ludlow	\$ 3,600
92	CAPPRO	Pond Beach Construction -A faithful supporter is offering a challenge match - they will match dollar for dollar up to \$3500 toward the pond beach construction. Let's capture that \$3500	Maybe You	
91	HORIHI	(2), 2 pound containers of honey from Rick's hives	Rick Kaminski	\$ 95
90		Worx electric long pole chain saw	LaValley's Ludlow	\$ 125
89	VMEAPO BDLPCS	Vase & Mirror from Earthstar Pottery 2 x \$30	Naomi Moyer, Brenda Metzler, Anna Hepler. Annabel Lapp	\$ 60
88	DNGNOC	Droplet Necklace, Gold - This necklace is handmade in Ethiopia from up-cycled artillery. From Noonday Collection, which is a fair-trade, socially responsible business	Stephanie Landis	\$ 60
87	CHBRCS	(5) \$25.00 Gift Certificates to Chef Brad's Crazy Sides 5 X \$80	Dorine & Tom Rosenberger & Chef Brad's	\$ 400
86	ВОЕАРО	2 bowls from Earthstar Pottery 2 x \$60	Naomi Moyer, Brenda Metzler, Anna Hepler. Annabel Lapp	\$ 120
85	MASSLC	One 60 min. massage by Linda	Resort Linda Canepari	\$ 130
84	OKEMOS	Sports to get it tuned up Two 1-day adult lift tickets to Okemo Mountain Resort – some blackout dates do apply	Woodstock Sports Okemo Mountain	\$ 125
83	WOBIWS	Lightly used women's bike includes a \$75 gift cert from Woodstock	Rosenberger Donna Miles &	\$ 100
82	VEFLBL	Vermont Flannel Blanket	Inc Dorine & Tom	\$ 250
81	GOODHO	Two jars of honey from the Goodro bees 2 x \$20	Rosenberger Goodro Lumber Co.	\$ 40
80	WDPPSC	Winter decorative pillow and Pine scented candle	Inc Dorine & Tom	\$ 175
79	MILCIS	Milwaukee 7-1/4" Circular Saw with Tilt-Lok Handle	Rosenberger Goodro Lumber Co.	\$ 175
78	FDPPSC	Fall Decorative Pillow and Pumpkin Spice Candle	Dorine & Tom	\$ 55
77	RECRNS	Red crew neck sweater, says "LOVE" size S/M	Sudie's Woodstock	\$ 25
76	LAPQUI	Lap quilt, 46" square patchwork with 100% wool back made by	Jennifer Maxham	\$ 100
75	ADIRCH	sterling silver snake chain with a lobster claw clasp and comes in a aift box. Pewter pendant 1 1/8" high 1 1/4" wide. Folding red cedar Adirondack chair made by Dave	Company Dave Beidler	\$ 300
74	DANJEW	Caswell 2 x \$200 Samba / Agua Studio Line Necklace - The 17" necklace is a 2MM	Gallagher, Flynn &	\$ 200
73	LEANHC	(2) sm. enamel over copper bowls (food safe - but no heat or cold: will ruin finish) from League of New Hampshire artists Allen & Brenda	Gallagher, Flynn &	\$ 400